Question Paper Title : FG_05

Date of Exam : 11-06-2019 10:00 AM

Reference 1D:(29619) Pick the Synonym for the word:
corporal

A.Physical
B.Mental
C.Immaterial

D.Ethereal

Answer: A.Physical

Reference 1D:(23684) '3RY 1 Weard fovardf weg sfiewr.

A.31d

B.3MIE!

C. a4l

Answer: c.g4d1

Reference 1D:(30608) Pick the correct meaning of the highlighted idiom: | cannot follow you on this wild
goose chase .



A.Follow someone blindly
B.Chasing a wild animal
C.A foolish adventure

D.Partner with someone for an activity

Answer: C.A foolish adventure

Reference 1D:(21703) SRA=1,B=2,C=3,...Z=26, R Jd UH! SV 70T SRI&R 3R?

A{T+R+Y}={J+A+C+K}
B{T+R+Y}<{J+A+C+K)
C{T+R+Y}>{J+A+C+K)

D{J+A+C+Kl={C+A+R}

Answer: C{T+R+Y}>{J+A+C+K}

Reference ID:(17369) 455 +535+35-(4.5-275-2.25)=

A.13.55

B.14.15

C.13.90

D.13.65

Answer: C.13.90



Reference 1D:(22820)

Answer:

Reference ID:(25779)

Answer:

Reference ID:(25776)

Answer:

SR $ 3R '+ 3T @ 3R '—', IR Wichiale! Jald et Jaid HIvrr 318 2

A125@62@35$74$102@ 93 $45$ 37
B48$17$25$32@ 126 @ 104 $ 34 $ 74
C19@12@45$42$36@ 103 $45$ 207

D144 @67 @25$32@26$104 @ 44 @ 13

B48317$25$32@ 126 @ 104 $34 $74

AH= 1 HERTPT ATt TR Weaues! HIvT g-geitd SHIRUGTHED
BIECRIS] ?

A=A, gut

B.dIdd], SId g

C.IMRER, Tl

D. BT, IS

A HRIGR, ol

NI ST Uil et it ER UHIRIT et oI,

A S, T, 3.

B.gAU%
C.3M.g 4.

D.3dl

C.3M.g 4.



Reference 1D:(31431)

Answer:

Reference ID:(25778)

Answer:

Reference 1D:(31433)

Answer:

GIRATCUeh! DIV RN U S e WeoTg Ae1?
A St et

B.UI =g 1R

C. 1o 5T

D.TH. Ryt gt

A arfa farf

g1 98% GEHIT + g 3Ts.

ATToR
B.SHM
C.a

D aiele! BT el

ATroft

HERIPTA ATl & ¢RI Widiiades! PIurT fTegid 3iTg 2

ATRHTR
B.HIegR

c.qu
D.3{RATTETE

A TRHTR



0N

Reference 1D:(18204) " S Y HR TUIA 819 81T " Bl Sdlad HI. 3. didd hiddfdd Nl Traiade!
HIUTAT DR AR TR,

A YifdH™
ERSHIGI Rl
C.3yfR=mg

D. 3

Answer: C.3Y~R=a

Reference 1D:(29873) Pick the right antonym for the word:
Lenient

A.Tough
B.Merciful
C.Soft

D.Hateful

Answer: A.Tough

Reference ID:(16861) R @ 38 "HIIHR' 30T § 3178 [UNHR’, R WU Jaid dg Uafd HIurdT 31e?

A.24@5



B.1.5%$4.25

C.29@4

D.3%$2.5

Answer: A.24@5

Reference 1D:(20968) ATferhdtd RBHI ST WRT: J, M, A, M, J, J, A, S

AF
B.J
C.S

D.A

Answer: A.F

Reference 1D:(23430) HIIBT T Xegral UM Weg 3T,

AUDTE

B.3dmT
c.ag

D.dldc®

Answer: AUDTE



Reference 1D:(21249) SR OWL BT e NVK 38d 30T TABLE BT X SZAKD 3d, dX HAZZAN BT ¥sg
3.

AYYZMZG
B.GZZYYM
C.GZYYZM

D.YYZZMG

Answer: C.GZYYZM

Reference 1D:(31426) IS 4] HRAT PIUTT IoTTd 3H UTdd?

AH TS
B.3{TY Ue™
c.fea=a uew

D. 3B U

Answer: AT TR

Reference ID:(34932) SR Gichfde HINd 432567 § 523476 31 , A% 876984 § Wi fdd HNd BT AA?

A.967783
B.977893
C.967893

D.977883

Answer: C.967893



Reference I1D:(16888) 8/20 + 0.75-5/40 =7

A.2.975

B.1.025

C.0.875

D.1.55

Answer: B.1.025

Reference 1D:(19220) Teh1Y GTCTOL. T TaRIRTE WTaadd! Hiordr 3 Iy 3mg?

AEIC g g graqul.
B.gHS foRU.

C greHT I,
PRCIGESGIERUE

Answer: AIC §: @ grRaqul,

Reference 1D:(30889) Identify the figure of speech in the following sentence: He was a real passive
aggressive personality.

A.Euphemism
B.Personification

C.Oxymoron



Answer:

Reference 1D:(19474)

Answer:

Reference 1D:(18485)

Answer:

Reference 1D:(22566)

D.Apostrophe

C.Oxymoron

TYT feoiedT aTRERTET a7 aTiR SR a1 aiaiged sfieswl. fereiay gror

A 3T GO TRIGERIT HISIR S fHud)  3aR Ul freiqu & T
B. AR S GRIdedIar avlidid 9d gd d gait [ISIgy e,

C.U1aTd 49 g g GSdHI RISy SHTaTsl HRd gl
D.fearedtear qunfAfi Wd gol Beld hisdH ey 81 aFTed gl

B. AR Bo! GRIGTaR Jidid ¥a gal d goit feretay oimett,

Q] TdI- HHUN YA acid dTe 3]

A DRITH S IR Gh Sl .

B.XTHIh g1 TGUT HR J\IQ1I.
C. YT U dled el
D.HAM Jam AR,

D.HAM Jam AR,

Grelidue! gaid dg™ Ui HI0rdT 3118 ?

Ab52-55-32+75+105-83 +42 + 57
B.48-17-52+35-156 + 104 + 44 + 71
C19+15-12+45+36-103 +42 + 107

D.44 +67-52-35-56+104-44-13



Answer: D.44+67-52-35-56+104-44-13

Reference 1D:(24700) Jeid Yecadgd! Iy Teg fAas.
3{TER YUIRT
AXdicls
B.UHG®
C.faviee
BRCEIN

Answer: C.ﬁlﬁlﬁw

Reference 1D:(24673) gTde araaTd RepTH) ST YRuary gafd arg e fAasT.
GoiRCTS 11 ST ISRl APTER GUT §eell BRUGM .......... Bl

AORET
=RINE]
C.HTgal
D.HTRGRI

Answer: C.HIgdT

Reference ID:(20714) WROK=52,CAT=48, MACE=44 @WHURRY=__ ?

A.182
B.179
C.180

D.183



Answer: C.180

Reference I1D:(25771) qrg Sl LR
ESENIECE
i. GlobxT
RCARKIl
iii. P&UNIR
iv. Al

T

A. QT

B. 3UMIA U
C. STHL-BIRIR

D. #IQR

E. G9ld

A.i-C ,ii-E , iii-A , iv-D
B.i-C , ii-E , iii-B , iv-A
C.i-E ,ii-C ,iii-A , iv-D

D.i-E , ii-C ,iii-B , iv-A

Answer: A.i-C ,ii-E , iii-A , iv-D

Reference 1D:(30381) Find the meaning of the word:: Pace

A.Hinder
B.Halt
C.Stride

D.Slow

Answer: C.Stride



Reference 1D:(31116)

AFATSTIAS AFTT 0T eifderen faesT @eiaddT Fomar #E?

ARATRT
B. Tl

(ORI

Answer: D.W

Reference 1D:(27868) Pick the correct meaning of the highlighted idiom or phrase from the following:
With the new job and looking after the house, Seema was
biting more than she could chew

A.Taking on more responsibility than one can handle
B.Assuming a lot more than was told

C.Trying to make extra money



Answer:

Reference 1D:(23911)

Answer:

Reference 1D:(18993)

Answer:

Reference ID:(17623)

D.Making most of the situation

A.Taking on more responsibility than one can handle

Gt faverdf Tt SRIeR Siiet i,

A.EﬁﬂTﬂx‘T@E’

B.§9gd x dhd

C.3UT x a1
D.gHE x 3URIE]

D.gHE x 3URIE]

WA oS TN / J9 YhR 35T

54 41 1/12 + 70 =T 40% <41 200% + 0.30 x 120 =

A.98

B.96.5

C.98.5



D.95.75

Answer: B.96.5

Reference 1D:(18739) FHUH M gad Saal. gl diad HIS e,

AUl TSI
B.TTYT gAATRIS

C.q0 YddhId
D187 YdHTH

Answer: D. {14l Ydh[d

Reference ID:(19955) S EHRACEIGIR Gﬁl%'mﬂm A 311 qufyg Siiesr:
U\Wﬁ'rﬁ J:J,ml'-ll QMd W5 dl I[UIR Fiffiddl! d Wd: AT TRIR g A bl

TBolids UTg- J1d Id -

AT dl dXId B 3 Tord df Ted Hra?
B. S $R1d ¥ HR1d

C.STd ITAT JT dog] hod

D.sllel o1 dTed Tl dardt urad

Answer: D. 9 99T =T it derdt urad

Reference 1D:(21476) WRA=1,B=2,..M=13; 3N =13,0=12, .... Z= 1, TR QNI UPH! HIUIQ
Tgig sRISR 3MTR?

A{R+E+D}<{B+U+G}

B{R+E+D}={B+U+G)



C{R+E+D}>{B+U+G}

D{R+E+D}={S+H+E}

Answer: C{R+E+D}>{B+U+G)

Reference ID:(32672) TR’ § AT AT HRATHAT HIUTAT AT 3178 ?

A BRaron

B.UuId
CIR YUY

D .XISRYTH

Answer: DRYSESSIG]

Reference 1D:(27360) Identify the figure of speech in the following sentence: | am so thirsty that my throat
is as dry as a bone.

A.Personification
B.Metaphor
C.Simile

D.Euphemism

Answer: C.Simile

Reference 1D:(31432) YRATAT YfgedT Afgal TeIH 10l gldr?

A Al HUL
B.IgSled!



C 0T AR
D.3d BR

Answer: A.ﬁﬁ?ﬂ m

Reference 1D:(35159) TTeft fecdiear Tt 3 U GHT 3MTed ST 1 fie 3118, SHIurdT U=l fie o 3ieswan?

A.8/32 Hindustan Petroleum corporation limited
2nd floor, 6 church lane

BBD Bagh

PH 0709308060

B.8/32 Hindustan Petroleum corporation limited
2nd floor, 6 church lane

BBD Bahg

PH 0709308060

C.8/32 Hindustan Petroleum corporation limited
2nd floor, 6 church lane

BBD Bagh

PH 0709308060

D.8/32 Hindustan Petroleum corporation limited
2nd floor, 6 church lane

BBD Bagh

PH 0709308060

Answer: B.8/32 Hindustan Petroleum corporation limited
2nd floor, 6 church lane
BBD Bahg
PH 0709308060

Reference ID:(24165) TTeaUD! BN T Yk WeE-aa- SRICTel eg Sesl.

AFG
B.A1fqug
C.AE=



Answer: C A=
Reference 1D:(27895) Find the meaning of the word:: Alibi
A.Question
B.Denial
C.Defense
D.Request
Answer: C.Defense
Reference 1D:(28884) Supply the correct tense of the verb in the sentence: | wish our
people_ not so cruel. | wish they _ more sympathy.
A.Were.......... had
B.Was.......... have
C.Were.......... have
D.Was.......... had
Answer: A.Were.......... had

Reference ID:(19701) geid Te0r quf Hrugret g gafg fAger. T e

A9 SITc

B.dTd STait
c.Rih et



D.ies! et

Answer: c.fRi Q]Fﬂ

Reference 1D:(18458) QTdTe areid By 9T Sd1d SR HIUId 3oy dTaRul gy 3d ?
faga Tiard Sitof Se. I Ui Ut enary el gidT.

A DR

B.YUI

C.BUH
D.31f0r

Answer: A DR

Reference 1D:(20741) WX WO = 11575, WH A T = 115405100, RWASH=__ 7

A. 1155954
B.11559540
C.231198

D.51108

Answer: B.11559540

Reference 1D:(31429) YRdTde e Arfedt 3rged SAfor Aifgdl sigaidl el S 3{eaef ol 3igd?
A MR G et

B.UduY™



Answer: B.UduY™

Reference 1D:(32668) Aeadl 39 SR $g (Central Sugarcane Research Station) T Ryd

3Te.

A HBRIY
B.&lch

C.HeT U
D.JW U™

Answer: A.HeRTY

Reference ID:(25773) WU HI0TT AT STaTs SiTd 3MTed?

AAY U
B T

C ISR

DIGIEERIS

Answer: C ISR

Reference 1D:(24446) gTdd araaTd RepTH ST YUy gafd a1 Weg fAasT.
Toi-ga ST ™ 1 auf ghlerE! ... dleat g,



A.clgedl

B.b U dl

PRSICIEGII

Answer: A.qlgddl

Reference 1D:(29646) Pick the Synonym for the word:
Pilfer

A.Steal
B.Contribute
C.Donate

D.Give

Answer: A.Steal

Reference 1D:(34905) SR11x2=26,28x7=703M0124x6=60,TR14x2="?

A.32
B.16
C.30

D.34

Answer: A.32

Reference ID:(17396) 7.35+85+055-(25-45-2+15)=_



A.18.55

B.18.45
C.19.05
D.18.90
Answer: D.18.90
Reference 1D:(29111) Fill in the blanks using the right form of simple present or present
continuous tense: She __ a pullover for her son. She __ to knit.
A.ls knitting.......... likes
B.Knits.......... likes
C.Knits.......... liked
D.Is knitting.......... liked
Answer: A.ls knitting.......... likes
Reference 1D:(28376) Find the meaning of the highlighted word in the sentence: And, ergo, his buddy is

guaranteed a profit.

A.Unacceptably
B.Therefore
C.Irrevocably

D.With regard

Answer: B.Therefore



Reference 1D:(27614) Identify the figure of speech in the following sentence: It will take me only two
seconds to get ready.

A.Metaphor
B.Personification
C.Hyperbole

D.Simile

Answer: C.Hyperbole

Reference 1D:(31430) qTaTu foTeaT Wietaud! HIurdT UidTd 3182

Afaey
B.FRTATSI
C.PIDU
DRCIEER

Answer: Aﬁ‘c{?-f

Reference 1D:(18966) WA el THN / THN UhR Siswl.
AAHS D

A7 TGN
B.7H dgdife

D.FHHYRY

Answer: DEf[?JTW



Reference ID:(25775) WTeAUD! BV SRS WREE (HIRIGE) Al HHITHH 3R Wb

ASHIH
B. B!

X IEIK|
D.SSHRMAT

Answer: A.?‘fl:lﬁ

Reference ID:(32673) fere o TdICiud =4 378,

A SR

C. 1A
D Tt HTalal el

Answer: C.Eb—ITSﬁ

Reference 1D:(30354) Find the meaning of the word:: Nimble

A.Foolish
B.Alert
C.Moronic

D.Soft

Answer: B.Alert



Reference ID:(25408) g a7 YegTaT Wiehaus! arg Ieft faurg 3esr.
AT+
Bdl + %
C.dt+3%

DAl + 3aX

Answer: BXdl + 3%

Reference 1D:(30862) Identify the figure of speech in the following sentence: Arguing with her was like
going for a sword fight.

A.Personification
B.Metaphor
C.Simile

D.Apostrophe

Answer: C.Simile

Reference ID:(25780) HERTY YT THUT TY Uhed 3718,

A7
B.6

C.9



D.10

Answer: B.6

Reference 1D:(25181) RIYHR' IT YegTa Wiehaus! g Teft faurg ez,
AUR + 3UPR
B.IRI + IUBR
CUR + bR

D.URJU + PR

Answer: AT + 3UHR

Reference 1D:(17142) 430+525+6.65-(4.50-7.75+1.25) =
A.18.20
B.18.15
C.18.05

D.18.65

Answer: A.18.20



Reference ID:(16507)

Answer:

Reference 1D:(30127)

Answer:

Reference 1D:(28603)

HoH S 3Ted. alg! JITHL YAD! diH S0T 3MTed. T g HIudTe! 7= [dc

Sl AL -1 81 fthriore Sididhe gu=aT hHidIaR 3Tg. Tl RSTR] s¥aial

;;gan_? ST HUNTNEE 318, IS BT fthRIorea [ISIRT 3118, 31Tl AR B
?

AT
B.fsmira
cE
D.fiRI

D.fRIS

Find the meaning of the highlighted word in the sentence: He was a courageous
man to indict his own brother.

A.Pardon
B.Prosecute
C.Excuse

D.Acquit

B.Prosecute

Find the meaning of the highlighted word in the sentence: You've eaten the whole
pie, you glutton.

A.Mad person
B.Person with sweet tooth
C.Hog

D.Fool



Answer: C.Hog

Reference 1D:(21222) SR BROCCOLI 8T ¥sd BCCILOOR 3f¥d 3101 BOWEL 8T Xsd BELOW 3{d, dR
ZUCCHINI BT ¥sg 3.

A.CCHIINUZ
B.IZUCCHN
C.IICCHUNZ

D.CCIIHNUZ

Answer: A.CCHIINUZ

Reference ID:(17115) Welidue! gafd T8 Uaid wIurar 3g?

A.350 9 90%
B.1700 dT 1/4
C.0.35 x 900

D.700 dT 2/5

Answer: D.700 dT 2/5

Reference 1D:(19982) 'SEST T e JHART Weg ST,
A3t
B.3{THi&

C.3[RY



D.3{ddd

Answer: A.3gd
Reference 1D:(28630) Pick the right idiom which fits into the sentence: His view on the current political
situation seems to have with the rest

A.Be like a mare’s nest
B.Stood his ground
C.Stirred up a hornet’s nest

D.Been a big gun

Answer: C.Stirred up a hornet’s nest

Reference 1D:(32669) YR Hrs<AT ARt T DIV hel?

A3R. . TRIRY

B.3dd U4, Ufs
C.oft. I ST
D.Gf&d Ifd=ix

Answer: B.3{dd TY. LIS

Reference 1D:(16534) 40 AT 75% - 12/20 + 1.75 =

A.31.65

B.31.15



C.30.9

D.31.55

Answer: B.31.15

Reference ID:(23938) Tretad! faearf sar gt St e,

AvUgdt x Iugat
B.<Tafget x sreargst

C.gdd x ”RR&19

D. Ul x IS

Answer: C.9dd x RR&19

Reference 1D:(29900) Pick the right antonym for the word:
erudite

A.lgnorant
B.Simple
C.Innocent

D.Wise

Answer: A.lgnorant

Reference 1D:(33901) RIS Ufgail IRRET UERTT SU[SI Trauit Y ohell gl

A TRERT, ISR
B.%w, ORI



C.E R, I

D.fe9R, g
Answer: A TIERUT, SR
Reference 1D:(29365) Pick the right meaning of the highlighted word in the sentence:

Compared to banyan trees, the coconut tree branches are pliable.

A.Something easily breakable
B.Something inelastic
C.Something which is easily flexible

D.Something which is very green

Answer: C.Something which is easily flexible
Reference ID:(18712) WU T TAHBIS ST a5,
AT qugTel STd S8,
B. ! QUgTell ITd Il
C. 11 quara Srs.
D.Ht QUdTelT ST 3G
Answer: D.Ht QUdTelT ST 3G
Reference 1D:(27641) Pick the correct meaning of the highlighted idiom or phrase from the following:

We called on Monica today to check in on her health.

A.To pay a visit to someone

B.To shout at someone



C.To wake up from a state of sleep

D.To take to another place

Answer: A.To pay a visit to someone

Reference 1D:(30635) Convert the following active to passive voice: The tiger was chasing the deer

A.The deer had been chased by the tiger
B.The deer was chased by the tiger
C.The deer was being chased by the tiger

D.The deer is being chased by the tiger

Answer: C.The deer was being chased by the tiger

Reference 1D:(27033) Find the meaning of the highlighted word in the sentence: He wore a smart blazer
with gold trimmings.

A.Cuts
B.Buttons
C.Decoration

D.Crop

Answer: C.Decoration

Reference 1D:(19728) "3{g1 U 3fg] ea-I" T WUl 1T Had gld?

AR el



B. T ¥ait
C.aRFauun

D.4duun

Answer: B.GI< Fj,?ﬂ

Reference ID:(31434) HERTY T THUT fobeit fores 3Tgd 2

A.32
B.34
C.36

D.38

Answer: C.36

Reference ID:(25774) TeiAUD! Dot IsaTd fAhHRIA T Sesd IHTRTY 3187

AJTRES
B.JTR Ue¥
c.fegr
D.Uf3H s

Answer: CﬁTS’R



Reference 1D:(20460) X ° IR UlgH feRien dis 3. i 45 3i=T STals daal. T dl 90 3% IoTdids
godl. T Al 180 3 g&d). W Al 45 3 Ididhs doddl. [idc] di Slaibs 45 3T
Jo5dll. T dl DI TGRS IS B IHT 3Tg?

AJR
B.Gf&rm

cgd

D.UfgH

Answer: B.gferor

Reference 1D:(28857) Pick the right idiom which fits into the sentence: Carrying a smart phone has
become

A.A mare’s nest
B.The gift of the gab
C.Stirring up a hornet’s nest

D.The order of the day

Answer: D.The order of the day

Reference 1D:(32674) YR YYH AiRaT fR1efd oiur Aiedt Sidra?

A SfAETS Bt
B.ufgar TATeTS
C.IHETs IS



D.IRIFSH! g

Answer: A.FITﬁ?ﬂTﬂ's: H?Jc‘f

Reference 1D:(31428) Tt Bl Jaud SfIBR ATgr?

A T W gah

B. U g9

C. T iadm 3T eifors gah

D ATAH<T g

Answer: D ATAH<T g

Reference 1D:(24192) WU HTHRUM T8 3 Xeq-olka Srael Ve el

A fsafafsd
B.agT

Answer: D.Inﬁlﬁ_g“

Reference ID:(25154) TR ® Ueg 3. ST USRI Hd ol are ...

ATd
B9

Ccdq
D.JY



Answer: cdcq

Reference 1D:(28149) Find the meaning of the word:: Discreet

A.Tactless
B.Careless
C.Cautious

D.Foolish

Answer: C.Cautious

Reference 1D:(24419) WU THRUMe €81 ¢ dTeraT ugrg e,

AT STATS JHYR 3178,

B. =T ATdTaR SNTid fddhH 3ig.
C.foRyae uiguard g aire.

D . gHTYg gHTfies T ST,

Answer: A ST STaTS! GHYR 3o

Reference D:(23657) Tretads! AR Sear got SIgt shewar

A.3TGS - DIl
B.Wal - I8
c.firafe - IR

D.f9d - 3™

Answer: B.Wql - ¢S



Reference 1D:(27006) Select the correct passive voice form of the sentence: Roshni will accept the
position.

A.Accepting the position is being done by Roshni
B.Roshni is accepting the position
C.Is Roshni accepting the position?

D.The position will be accepted by Roshni

Answer: D.The position will be accepted by Roshni

Reference 1D:(17650) 3941 1/6 + 40 =U1 15% + 0.25 x 60 =

A.29
B.29.5
C.26.75

D.27.5

Answer: D.27.5

Reference ID:(32670) HRTHT Tiefie RIS T3 DI §ldl?

A.TUTA ST TRgl
B.GTGTHTS ARIol

C. Tl oy d MY

D.HgTed Mide I8

Answer: AT vl TrRad



Reference 1D:(29138)

Answer:

Reference 1D:(18231)

Answer:

Reference 1D:(22238)

Answer:

Pick the right meaning of the highlighted word in the sentence:
Mark is a congenial host who always makes everyone feel welcome

A.A pleasant and enjoyable person or environment
B.A dull and boring person or environment
C. A lazy person

D.A disgusting person or situation

A.A pleasant and enjoyable person or environment

U IR 16 AT d9d 8 9 8 AT =M U= GIF STad- § PIvl grd A&
3Tg?

INGRRIRED)

B. Y ITUATd

C.UTaIP e

D.aaYy

C.UCIHd®

WIeitcte! Jafd AT g Hiurar 38 2

A12+55-62+45+65-103 +42 + 57
B.18 +17-52 +35-56 + 104 - 44 - 37
C19+15-162+45+ 36+ 103 +42 + 17

D.38 + 107 - 52 -35-56 + 104 - 44 - 37

C19+15-162+45+ 36+ 103 +42 + 17



Reference 1D:(20233)

Answer:

Reference 1D:(20487)

Answer:

Reference 1D:(32677)

Uch HIUH AT TRIIREA Uiy A=A 8 o 4t =rera.
W ) Sdidhs ol T 3 fob. . ATl
W ) Ioidihs dadd! 3oT 1 fob. A, arerdl.
T dl Iodihs daddl 3T 2 fop. =Y. arerdl.
T dl Iolaih s gaddl 31T 4 o5, 1. arerdl.
W ) Sdidhs ol 0T 1 fob. 1. a1l

I AT ERIURA farell @R 3H1e?

A.4 fo 1.
B.5 fob .
C.4.5fb .
D.5. 5 fob .

B.5 for .

WRR+E+D=27A+W+A+Y=50,dRC+L+0O+S+E=_7

A.52
B.54
C.53

D.55

B.54

YRATd i 78T W' HIS 3HTg?

AJTR U™
B.HY U
C. 31Ty UH



D. 3RS0 Je X

Answer: B.H UeX

Reference 1D:(32675) fRIITS HERTSIAT TRT3T THATSAT! ST I Bll?

A ATRIS
B.ITS
C.ORR

DASEHIC)

Answer: B.RIYUITS

Reference 1D:(27387) Identify the figure of speech in the following sentence: The camera loves her since
she is so pretty.

A.Hyperbole
B.Simile
C.Metaphor

D.Personification

Answer: D.Personification

Reference 1D:(29392) Pick the right meaning of the highlighted word in the sentence:
His actions have earned him stern rebukes from the teachers

A.Disapproval about something
B.Endorsement about something

C.Seldom do something about anything



D.To be stubborn about something

Answer: A.Disapproval about something

Reference 1D:(22592) SR $ 3] '+ 3T @ 3R '—', TR WU Faid HisT gufd Hiurar 31mg 2

A55$11 @75$42@62@ 13$45$ 27
B.118$17@25$32@ 126 $ 104 @ 44 @ 37
C79$42$165$42%$36 @ 103 $45$ 17

D38@107@25@32@26%$104%$144 @7

Answer: C.79$42%$165%$42%36 @ 103$45% 17

Reference 1D:(20995) HTfeTbare RepTHI ST +RT:__, 23, 45, 56, 78, 89, 111, 122, 144

A2
B.13
C.14

D.15

Answer: A12

Reference 1D:(20206) X 9 g4 fe=ian die ofig. < 45 3 Ioididhe aasdl. A dl 180 3T gesdl. T df 45 3T
SIdide aesdl. Riac! dl Slaids 45 3 gad!. AT dl HIOTAT SR die B IHT
31?2

AR g4
B.af&rr gd
C.3TR ufgy



D.Gf&for ufgg

Answer: D.&f&mr ufgy
Reference 1D:(17877) XY &1 10% 3MT8. WY & X =l % 3Tg.
A.10
B.90
C.1000
D.900
Answer: C.1000
Reference 1D:(28122) Find the meaning of the highlighted word from the sentence: He’s a doctor of the

highest caliber.

A.Weakness
B.Lowliness
C.Inability

D.Ability

Answer: D.Ability

Reference ID:(25777) gt an1for roft g e Aafie MaRIMAIRE gR S dadq =T Sfavia
d.

A Z9-Rig daga
B.T-Rig daedH

C.JHURUY



D.a¥cte! Id

Answer: B.QW—ﬁl_g Tdad

Reference 1D:(32671) HERIPTITE I PHIUTT IASTh 1 AT ST aRa JHUd deidd RS 3152

A 3R, fdSH
B.SITSiaA M

C.qdt ard

D.$WIHhId

Answer: A AR, aSH

Reference ID:(31427) HRATIA DIV Iod "HRATD 3l I (S 3l s e 3 sfeany WU s
EIGK

A FETag
B. AR

C. 3B U
D. ST HTRHR

Answer: C.3{SUEd Uex

Reference 1D:(19247) Wi RepTa ISU. & 3rufar Wichiaud! ST dTeER 3T o 3T,

A SR UES BT

B. Tl OTuf g0t



C.IA] DHIBST HF0

D.Sidhig! 90!

Answer: B. &I TTufl Eﬂﬁf

Reference 1D:(25772) Al Alr T gaqa / TS TGR THIAY §I0ARITST T HdY HI0Td $g?

A TR TaEsa Heayu! 3rTal

B.URTRUfA® I Ta=urHed ST fdhal ol el HIeaTd dgd AHTIUIRT TSR 3Tl

C. 3 esear Hgayqu! S/ Td]

D.3Md XA TR 374,
Answer: B.URTRUfA® I Ta=urHed ST fdhal ol el HIeaTd dgd AHTIURT TSR 3Tl
Reference 1D:(24927) Jeid eaqggNIa! Iy e fAasr.

-Tdl< T YR UK

A QRTUHETE
B.3aRHddIG!
C.gHdaret

D. Rl

Answer: C.A99qdre!



